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10.

11

12.

14.

15.

What is seven thousand six hundred and four in
symbols?

A 764 B. 7064 . C. 7640 D. 7604
What is the place value of digit 9 in 629287
A.Tens of thousands = B. Thousands

C. Hundreds D. Tens

What is the total value of digit 4 in 24367

A.4000°  B. 400 C. 40 D. 4
Whatis '/, 0f 127 :
A.T72 B.4 &2 12

Which one of the following numbers is an odd
number?

A.26 B.8 C 2 s
An odd number minus an odd number equals to
A. even number B. odd number

C. prime number D. divisor

Work out: 5647 +285 =

A. 6932 B. 5932

C. 8497 D. 5832

Multiply: 73 x 6

A.428 Bo7S C. 438 D. 49

In a school, there are 437 boys and 378 girls. How
many pupils are there in the school altogether?

A. 705 B. 805 C. 59 D. 815
Work out: 5, + 1/,

A%, B9 Ca5, B,
What is 92457 in Words'7

A. Nine thousand four hundred and five seven

B. Ninety two thousand five hundred and forty
seven

C. Ninety two thousand four hundred and fifty
seven

D. Ninety two thousand four thousand and fifty
seven

Which of the following fractions is the biggest?

A Y B. %
ey .Y,

. Divide: 56+7
A. 49 B.8 E9 D. 63
What is the next number in the series?
5 e :
A23 s 19 CL26 1D
What is the place value of 6 in the number 73.647?
A. Tens B. Hundreds
C. Tenths D. Hundredths

16. What frac 1011 is shaded”
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: B3,

ALl 'l D g%
17. lkg ofungacosts Sh 55. Whatis the cost ofSkg‘?

A.Sh30 B. Sh 295

C. Shi50 D. Sh 255

18. Mr. Kamau had 93 sheep. Eight sheep. died of a
certain disease. How many sheep remained?

A. 85 B. 101 C. .9 P. llaem 5
19. Convert the following fraction into a decimal. *’/

A.0.27 B.27 (G i) D. 2700
20. Convert the following decimal into fraction. 0.75

A B. B onthsss 5N
21. Whmh of the following numbers are divisible by both

2 and 57

A. 436 B. 365 C.324 D. 490
22. Whatis 16m + 8m?

A.8m B.2m C.24m D. 24

53. Muthoni sells 25 fruits everyday she went to the
market. How many fruits does she sell in 2 weeks?

A.39 B._27 @23 B2 350
24. How many cubes make this stack?
t
A.18 B. 16 .12 D. 20

25. What is the name of the figure below?”
]

A. Square B. Circle

C.Rectangle D. Triangle
26. What is the missing number?

2/3 . 8/?

A 12

B.6 B
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35.

36.

. How many ¥%Kkg are there in 6kg of sugar?

A3 B. 1% C. 6% D. 24
. Name the angle
- A.ZVX
B.ZY
X ; C.YZX
B D.ZXY
. What is the approximate height of your Mathematics
teacher?
A 2cm B.2m C. 20cm D. 20m
. Find the difference between 1200 and 300.
A. 900 B. 90 €9 D. 1500
. Jdays = hrs.
A5 B. 60 C. 120 D. 11
. April, June and August has days.
A.90 B. 91 C. 89 .97
. Work out: 0.23 +4.29+1.1
A3 23 X PRS2 C¥5:62 C.4.63
. 48 = 8 can be done through subtraction as: 48 — 8
= 40,40 -8 =32, -2
A.32-8=24 B.32-9=23
C.8-8=0 D.16-8=28
What is the distance all round the shape?
A.24cm
6 B.42cm
4o C.l2em
D.48cm
I12em

Muthoni bought 30 oranges. She gave a third to
her friend Joyce. How many oranges was she left
with?
A.20 B. 10

C. 30 b 15

. A school term has 91 days. James was absent for

15 days. How many days was he present?
A.91 B.76 C. 106 D.6rem 1

. What is the next shape?

7

2

Al 1< P >
z 5 O\
39. How many rectangles are there in the figure?
: A.2
B3
C.4
D. 1

40.

41.

42.

43.

44.

45.

46.
47.

48.

49.

=

50.

Sh Cts
48 50
-6 75

A.Sh5525cts B.Sh42 25 cts
C. Sh 60 20cts D.Sh4175cts
Which is the point of intersection?

B
€.P
D.Z

Write the following time in the short form. Twenty
six minutes to three o’clock.

A.3.26 B. 2.37 C. 1.46 D. 2.34
m cm
1 F5
+3 60
A.5m35cm B.4m 135¢cm
C. 7m20cm D. 6m 40cm

Arrange the following numbers from the smallest to
the largest. 16, 10,25,35,95,12

A. 95, 10, 16,25,35, 12

B. 10; 12, 16525,85, 95

C. 10, 162502, 35, 95

D£95, 35.25.516.712, 10

Work out: 73 +4

A.16rem 1 B.1rem18
C.28rem 1 D.18rem 1

How many 50 shillings notes are there in Sh 10007
A. 200 B.2 C.20 D. 1050
How many legs has 24 chicken?

A.50 B.24 C. 46 D. 48

Wamuyu got 60 marks in Maths, 56 marks in English
and 74 marks in Science. How many marks d1d she
get in the three subjects?

A. 116 B. 190 C. 290
Which of the following is an acute angle?

=
g e

Which of the following are factors of 487
A.8and 6 B.9and 5
C.10and 12 D. 6 and 7

D. 180

o
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